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public class IntTreeNode {
public int data;
public IntTreeNode left;
public IntTreeNode right;

public IntTreeNode(int data) {
this(data, null, null);

}

public IntTreeNode(int data, IntTreeNode left,
IntTreeNode right) {
this.data data;
this.left left;
this.right = right;

}
}

public class Ty Tree §
[iete LTl openl(Cost,

{ Medled 5>




_ Tree Tvavesal




?rcordzf : ‘Z; '0 ,;7(951—? | 8 1 LF

- l
B IS5 02 1 317

potorder: & 5 70 8 11932




___Psdd.*c Veid —l‘\fPt(’adc () §

Rl i

%ﬁg.«{h@ -

= |
*ﬂi& yoid P,«@, @‘Mﬂ'




